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A payment of 900 at the end of 6 years and 500 at the end of 12 years has the same present value as a payment of
300 at the end of 3 years and X at the end of 10 years.
Zin (13t Z.
Calculate X. [1.b-f #22] Q) = e = Q)
312 B) 281 C) 296 D) 327 E) 343
g
S e ‘oz Seo . 200 4 =
e Qoo s =
S S SR aley "ol | ald  ole
Qoo . Soo
2 X Gco 4 Soo = 3o —X—‘
49 N Lo Iz
X =i3\\.(,<ﬂ
2. 0.09¢

A fund has a force of interest given by &, =W. — L'EZB = \+—0.OL-\§-(: <
+ V.

A deposit is made into the account a time 6. Determine the number of years from the time of the deposit required
for the value to double.
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3. . Attime ¢ =0, Donald puts 4750 into a fund crediting interest at a nominal rate of / compounded semiannually.
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At time 7 = 5, Lewis puts 4750 into a different fund crediting interest at a force &, = m for all z.
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At time ¢ = 14, the amounts in each fund will be equal.

Calculate i. [l.g #06]
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On July 1, 2012 a person invests 2,000 in a fund for which the force of interest at time ¢ is expressed by the
4+2t

formula 5, = W where ¢ is the number of years since January 1, 2012.

Determine the accumulated value of the investment on January 1, 2013. [l.g #16]
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Jeff puts 700 into a fund that pays an effective annual rate of discount of 12% for the first 3 years and of force of
interest of rate &, =2t/ (t ot 5) , 3<t <7, for the next 4 years.

At the end of 7 years, the amount in Jeff's account is the same as what it would have been if he had put 700 into an
account paying interest at the nominal rate of / per annum compounded quarterly for 7 years.

Calculate i. [l.g #10]
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